it Rolt

Series OSVRIZ“ - | W 57/2/2

Code No.
e H. , —
Roll No. | 1 ;ﬁmﬁ EIES ﬁl TG F qETE

Candidates must writé the Code on the
title page of the answer-book.

o FUNTE RGP ITATAGRAIS 11 § |
. %ﬂ@ﬁﬁﬂ%ﬁ@ﬂ?ﬁ@?ﬁﬂws&mﬁ@msmgﬁ?‘-ﬁﬂ%g@‘{gw
|

o FHUU T R AW I H 30T F |

o TFHUIT U H1 IW fore T 1% wH & uge, mwmmﬁa@l

e IM WYH-TA Wl U % T 15 e w1 wwy fem men R |y w faew @i
o 10.15 & 5 M@ | 10.15 S99 @ 10.30 S T B Had YI-U3 ) UL
3R 59 1Ay % F 9 IT-Yfeash | 5 I T o | ’

o Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the questmn before
attempting it.

e 15 minutes time has been allotted to read this questlon paper The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any anSwer on
the answer-book during this period.

S Frar (i)

BIOLOGY (Theory)

Refa a7 : 3 g2 o | SferFTT 37% : 70

Time allowed : 3 hours | : Maximum Marks : 70

57/2/2 | 1 | . P10




(i

)

(iii)

qY1 797 s7fEre §

'sym-wz?'amng,B,CeﬁzrD FlEA 7 ¥ & o7 g7 @7

v 5% & @ B # 10 77 & ot 0% % 7 o & mveC B9 e 8
K 990% 35 i of% & qar @ve p 73 VT E o I S aig arm

I T - (st ) v 78 1 o, 2 s ard) v
¥ 5, 3 S AT T 797 F o 5 ot T W e e F e

| ﬁw@qwﬁ/@#ﬂwfﬁwwmwﬁ%mwm,ﬁé/

(iv)

7o 9 ST 7, AT T T ARG AE-GR 7 a5 &7 F i
&/ "

General Instructions :

()
(ii)

All questions are compulsory.

This question paper consists of four Sections A, B, C and D. Section A _

_ contains 8 questions of one mark each, Section B is of 10 questions of two

(ii1)

(iv)

97/2/2

marks each, Section C is of 9 questions of three marks each and Section
D is of 3 questions of five marks each.

There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 3 marks and all the three
questions of 5 marks weightage. A student has to attempt only one of the
alternatives in such questions.

Wherever necessary, the diagrams drawn skould be neat and properly

labelled,




TUE A
SECTION A

1. #@ﬁam%mqgﬁ@%ﬂﬁaﬁm%ﬁwmsﬁwm
AR SARIHIE &1 83 &, UE1 o 2 | 1
In spite of being non-polluting, why are there great apprehensions in using

nuclear energy for generating electricity ?

N

2. A=A TR T EHIER i HT 3 T | . 1
' State the purpose of signing the Montreal Protocol.

3. 37 Uomsl & Am fafen R seawe e St sikees % au suw
IR o DNA % gt & e foman o 2 | 1
Write the names of the enzymes that are used for isolation of DNA from

bacterial and fungal cells respectively for Recombinant DNA Technology.

4 v T Sl w1 T R e sfia R DNA Saw ¥ g
HEH &9V Tehelh ST I Il 7 | 1

Name the host cells in which micro-injection technique is used to introduce
an alien DNA.

5.  “higd a1 9RR g d 998 98 SHEH AN DNA 319 & & "eehi & 9|
et | 1
Write the two components of the first artificial recombinant DNA molecule

constructed by Cohen and Boyer.

6. u@ﬁmw%ﬁmméﬁsﬁsﬁwmﬁ@éwﬁ% ?ﬁa'gmaw
i 5T TR IR wEE § 2 ‘ 1

How does haemozoin affect the human body when released in blood during

malarial infection ?
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10.

11.

T SR TRl 4 difea freh safs 3 g Q;I,IQ’I Th eﬁlﬁ:ebiﬁ?@"’r AT
S TR i ol B o € 2

Why do normal red blood cells become elongated sickle shaped structures
in a person suffering from sickle cell anaemia ?

ToRE STTgasTSi o T TRTT Qmmaﬁ@m | S8 Ha HIRHE
TeH! H AR HINT |

Draw a diagram of a matured microspore of an angiosperm. Label its
cellular components only.

N

WU B
SECTION B
“a1q Fogm” ford e € 2 3 =% @ fafdre Trerem fafew |

What is “withdrawal syndrome”? List any two symptoms it is
characterised by

e HTET % Ao | 7w g9 A Qulth%@aﬂ‘ié‘cﬁ% ? FeEsy |

Why is the possibility of a human female suffering from haemophilia rare ?
Explain. v ‘

= = T o o mn R | Sue ogedl S 3R s EeA 9w
mRNA TS &l 37! gaar diga fafag | |
3’ ATGCATGCATGCATGCATGCATGC 5’
AT

= fou o1 ® foml &1 rerE HIY SR I8 S © 999 1 ST G
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A template strand is given below. Write down the corresponding coding
strand and the mRNA strand that can be formed, along with their
polarity. « -

3 ATGCATGCATGCATGCATGCATGC 5

OR

Study the figures given below and answer the question.

 Cross A o | Cross B
y w vyt wt w m wt mt ,
cEEO0 Curwr——1D cEETD cE——m
cEE— D cm——=mCo (Parental)
Y W 4 W m v
Yellow, white Wild type , White, miniature Wild type

Identify in which of the crosses is the strength of linkage between the
genes higher. Give reasons in support of your answer. ,

| 12, T IaTE 3 gU S wgvehE ¥ frwa § g | | | 2
‘ Explain pleiotropy with the help of an example. '

13. O AAS i ® e w=i ww AR, T6he g w4 e
(qfiSgur OY) BiAT HET AT B | IAE o Ueh-Ueh ITe 6l GERat U gHsse | 2

‘Some angiosperm seeds are said to be ‘albuminous’, whereas few others are
said to have a perisperm. Explain each with the help of an example.

14, wEe el # FHW G O A AR A D T e g
3t 3 ¥ i €, 7 of e | , 2

~ List the two steps that are essential for carrying out artificial hybridization
_in crop plants and why.

15. o Ul ¥ THUS IR0 AH GUAEC fh gewiir Ut wsiushiin
(TrEfgaan) o S R | | 2
Differentiate between commensalism and mutualism by taking one
example each from plants only. '
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16. <odl waTed % TRW A au 3a Wi #§ o9 A HY s ghowdang o,
wt%mmmm%ﬁmmwﬁmmmm ‘
i h1 TR B 2 2
Write what was the percentage of forest cover of India at the beginning

and at the end of the twentieth century. How different is it from the one
recommended by the National Forest Policy of our country ?

17. o o e T R o T 2 e § e s 2,
fafem | . f . -

‘Why are molecular scissors so called ? Write their use in biotechnology.

18, YIS ¥ GAEE W f¥E S % fag a:@ﬁwwﬁésﬁqmm
Tenes e & w9 § f50 TeR swHe RS g 2 2

How is insertional inactivation of an enzyme used as a selectable marker to
differentiate recombinants from non-recombinants ?

g C
SECTION C

19. ‘Wﬁmmﬁmmmﬁfaamwﬁmmmwwmﬁ

9T T T SRt e o sHerar g | dehdt @ | " 3

Describe the three different ways by which Natural Selection can affect the
frequency of a heritable trait in a population.

20. TG Y] H @ FAIEY | S6H HIT 37 AN H AHST HIT T I H
7t 1 i o B, S e g T wEe o 3w o R # g
TERAT U 8 | 3
Draw a diagram of 2 human sperm. Label only those parts along with their

functions, that assist the sperm to reach and gain entry into the female
gamete.

21, TEEl § YERISHA 1 STHMH-HIE0 G9ET | 3
Explain the hormonal control of spermatogenesis in humans.
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22. a@qﬁmam@zwﬁm%ﬁﬁwwﬁwﬁ%%@lmm
. S HTHIEO Qb 3

Write the differences between wind-pollinated and insect-pollinated

ﬂowérs. Give an example of each type..

23. 36 T fogt S o1 hi YUreE IEH HEl QT 39 & = 7 et 75 1997 &
TEel g el oft | V@ ST SIRd ST HeH AIE SR 1 o § | ST
FE T W@ 2 % o o s=h § us SrEewar sEwn Serd R o o
=l W ool s S fogt TR A 91 UrEE S gUTie % fw 3ot 9 | 3
(@ o S g RwaleT ffeg |
(b) U R QR B ogEl SEY ) o o SRl § Wit S
=T T 1Y <Y STt TUrer ST e g TR S ue |

(o) @ﬁéww%mmﬁw%aﬁﬁr@aﬁw
T 91 |

Presently, air quality of Delhi has significantly improved in comparison to

what existed before 1997. This is the result of a lot of conscious human
efforts. You are being asked to conduct an awareness programme in your
locality wherein you will comment on the steps taken by Delhi Government

to improve the air quality.
(a)  Write any two of your comments.

(b) List any two ways that you would include in your programme so as
to ensure the maintenance of good quality of air.

(c)  State any two values your programme will inculcate in the people |
of your locality. '

24, “Sg-yeedi’ nwmﬁ%?mmwlwﬁaﬁww
<1 SHH A1 ANTGH T@1 B, &1 SN 1 Ferral & 50 9dqrsy | 3

What is “biofortification” ? Write its importance. Mention the contribution
of Indian Agrlcultural Research Institute towards it Wlth the help of two
examples.
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25. (@) irefte o ftwe (PCR)E Bt di T wnn &, g wE |

(b) Taq NAWS % Aa g w1 9 e | PCRﬁSHwﬁﬁﬁTQ
Y{FepT 1 &, WA | 3

(a)  List the three steps involved in Polymerase Chain Reaction (PCR).

(b) Name the source organism of Taq polymerase. Explain the specific

role of this enzyme in PCR.
26. =& w1 W A H a, b, ¢, d, e AT £ I GGG, 9 FAE | 3
e = T | AFE e
| o wuTaia T
b | HATEFAANA A f c
THCHd TRTT . d e
I g |
i CENRCaiE
Identify a, b, c,-d, e and fin the table given below :
Scientific Name of Product Use in human
the organism produced welfare
~ ; Streptokinase
Streptococcus that was later a
modified ’
b Cyclosporin A c
Monascus
d : e
purpureus
Lactobacillus f sets milk into
curd
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217.

W‘Lﬁ?@?ﬂ % 3 WY w1 IW fafew i aFg vt | >ll°l°d§3:ﬂ ch{cﬂ‘%l
masﬁtﬁsa%sﬁma%ﬁﬁfﬁammml | 3

Ui

(@ ﬁ?ﬁm(qam)wmvﬁ@mﬁaﬁméﬁaﬁwm%

28.

57122

TR T A [IRIT X HR FATd g 38 ﬁwﬁ‘aﬂw?{ql

(b) ﬁﬁmﬁmﬁwm(ﬁﬁg)%wwmw 3

() s S e 9 |
(i) WS IR § TESHT 6l SR 8 S99 9

Name the form of Plasmodium that gains entry into the human body.
Explain the different stages of its life-cycle in the human body.

OR

(a) Name and explain giving reasons, the type of immunity provided
to the newborn by the colostrum and vaccinations.

(b) Name the type of antibody
(i) present in colostrum

(i) producéd in response to allergens in human body.

@ ueg D
SECTION D

(a) ,Sqwfnﬁﬁa“iaﬁﬁvﬁwwﬁrﬁaqaﬁar%awﬁg@mmﬁgan

(b) aifed 7a & fedfors STOR & GRF B e e = & fowsr §
usse | | - | 5

9 | . P.T.O.




(@)
o)
(a)

(b)

(a)
(b)

29. (a)

(b)

(a)

(b)

(@)

®

(a)
(b)
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mﬁﬁmaﬁaﬁmwmﬁwﬁ%w%ﬁaﬁ@mﬁw

T guEsT |

m%@mmﬁaﬁﬁaﬁwwﬁ@mwﬁmawﬁaﬁw
T ST H Sfieha SHINT |

Name the category of microbes occurring naturally in sewage and

~ making it less polluted during the treatment.

Explain the different steps involved in the secondary treatment of
sewage.

OR

Name and explain any four lymphoid organs present in humans.

Categorise the named lymphoid organs as primary or secondary
lymphoid organs, giving reasons.

sttt e fedfvers wTiiRfes argshun # g Hife |

TRd H B T8 STl YSharesil TIsRATT o fofee =R awsisy |
' Ty

Safafaedr % geeu i #9018 2

W%m%mmﬁaﬁw%m%qaﬁ(
3% o 3 Ty | |

Differentiate between primary and _secondary ecological
successions. ‘

Explain the different steps of xerarch succession occurring in
nature. \ -

OR
Why is there a need to conserve biodiversity ?
Name and explain any two ways that are responsible for the loss of

biodiversity.
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30. mawwm%qmwnwaﬁqﬁqaﬁt%q%ém
ﬁﬁﬁéﬂtﬂgﬁﬁl

arera
RNA%g@W%W%f@Q@RW%WWﬁW
. Gy ® Ih! T ftreRt B R |

Describe Meselson and Stahl’s expenment and write the conclusion they
arrived at. ~

E ~ OR |
Name the major types of RNAs and explain their role in the process of
protein synthesis in a prokaryote.
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